MFM2P -QUADRATIC EXPRESSIONS UNIT 4 — DAY 3 - NOTE DATE:

COMMON FACTORING - GCF
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GCF: Greotest Common —tackor is the lQraes D factor
)
you can __ divide ALL _d<crmng ina__Polvywnomia by.
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The factor can be:
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° Variables , or

° Nuumner S £ \/'er'q bleg

Examples: Find the GCF of:

a) 12and 9 b) 4 and 6 c) x2 and x3
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Factor each of the following by indicating the GCF

Example l:’73x2 + 6x — 36

Step 1: Find the GCF

GerF = 3

( Step 2: Divide the trinomial by the GCF
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\ Step 3: Check the solution (expand)

Example 2: 5x5 + 15x3 — 35x4
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[Step 2: Divide the trinomial by the GCF
- BxY Sx7 1+ 15x5 - 3Dt

i

1 i il L
i L Sk By, = 532/
f

'1 — 3 a L

EOXx® + 3 - T1x)

| Step 3: Chgc&ﬁgolufion (expand)
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Example 3: Factor each of the following by a common factor.
a) 3x2+21x+30 GCF=2 b) 4x2—12x-72  GCF = =
=3 (3% 42Mxr 30 Y- 12r -T2 )
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F Wl —v"hu»—\.p) = 1 (x%- 3y, _ '%3
) x2+4x-3  (GCF = —| d) 2x2 + 4x + 2 (G¢cF = 2
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e)3x2+21x+30 GCF=3 f) 4x2—-12x-72 Gcr =4
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= 3(xT+1x +10) = (=3 x - %)
Note: You can also have a binomial as a GCF.
Factor a) 2a(2+a) — 3(2+a) GCF = Q+ad) b) 2(x — 2) + 3x(x — 2) GCF = (¢-2)
= (9+a) [ 8alad) - 3@#&] = (x-2) \ D) ¢ B\u—ziv
(24 (2/r ) j 2) (2

= (x+a) (20 -3) = (x-2X a *34)



